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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Currently 80 pereent of drugs are shot down in early clinical trials because they are not

effective or are even ---—--—--.
1) intense 2) initial 3) toxic 4) prior

2- With such rapid advances in the field of human transplantation, researchers such as myself
are now beginning to consider what some have previously --—--—- unthinkable: transplanting
a human brain.
1) deemed 2) pursued 3) perplexed 4) excluded

3- Weather forecasters are a frequently humbled bunch. No matter how far their science
advances, the atmosphere finds ways to ------—- prediction.
1) underlie 2) defy 3) expose 4) strive

4- Many armed groups ----—---- mix with the population to avoid identification. Sometimes they
actually nse civilians as shields.
1} inherently 2) coincidentally 3) persuasively 4) deliberately

5. After receiving a phone call that a bomb had been planted somewhere in the hotel, Police
ordercd the ---—---- of the building.
1) resislance 2) evacuation 3) authority 4) invalidity

6- Cosmologists, however, can make ---—----- about the early universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years after the big bang.
1) concessions 2) ramilications 3) foundations 4) deductions

7- The fact that there are many earth-like planets in the universe supports the widely held view
that life —-—---- the universe.
1) pervades 2) innovates 3) exemplifics 4) overlaps

8- Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with -———-- the weight of an upright piano.
1) estimations 2) cnsembles 3) barricades 4} projectiles

9- People in their late 90s or older are often healthier and more --------- than those 2(¢ years
younger.
1) civil 2) durable 3) robust 4} concurrent

10- One of the first prominent geologists to raise concern that global warming might
-—-—- a catastrophic collapse of the Antarctic ice cap was J. H. Mercer.
1) trigger 2) negate 3) exceed 4) replace

Part B: Cloze Test

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best fits
cach space. Then mark the correct choice on your answer sheet.

Our hunt for caloric restriction mimetics grew out of our desire to better understand caloric
restriction’s many effects on the body. Scientists {irst recognized the value of the practice more

than 60 years ago, when they found that rats (11} -=--e=mm- a low-calorie diet lived longer on
average than frce-feeding rats (12) --------- a reduced incidence of conditions (13) ====ee--- :
What is more, some of the treated animals survived longer than the oldest-living animals in the
control group. (14) --------- that the maximum lifc span (the oldest attainable age), not merely
the average life span, increased. Various interventions, such as infection-fighting drugs. can
increase (15) -—------ . but only approaches that slow the body’s rate ol aging will increase the
maximum life span.

11- 1) feed 2) they were fed 3) fed 4) feeding

12-1) 10 have 2} had 3) in having 4) and had

13- 1) in old age they became increasingly common
2) that become increasingly common n old age
3) becoming common in increasingly old age
4} they became in old age increasingly common

14- 1) which means 2) but means 3) it means 4) what it means
15- 1) the average time in survival population 2) a survival population average time
3) a population’s average survival time 4) the survival time in average population
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) or (4).
Then mark it on your answer sheet.

PASSAGE]

‘Transpiration is a process similar 1o evaporation. It is a part of the water cycle, and it is the loss
of water vapor from parts of plants (similar to sweating), especially in leaves but also
in stems, flowers and roots. Leaf surfaces are dotted with openings which are collectively
called stomata, and in most plants they are more numerous on the undersides of the foliage.
The stoma are bordered by guard cells (together known as stomata) that open and close the
pore. Leal transpiration occurs through stomata. and can be thought of as a necessary "cost"
associated with the opening of the stomata to allow the diffusion of carbon dioxide gas from
the air for photosynthesis. Transpiration also cools plants, changes cell's osmotic pressure, and
enables mass flow of mincral nutrients and water from roots to shoots. Mass flow of liquid
water from the roots to the leaves is driven in part by capillary action. In taller plants and trees
however, the force of gravity can only be overcome by the decrease in hydrostatic (water)
pressure in the upper parts of the plants due to the diffusion of water out of stomata into
the atmosphere. Water is absorbed at the roots by osmosis, and any dissolved mineral nutrients
travel with it through the xylem. Plants regulate the rate of transpiration by the degrec of
stomatal opening. The rate of transpiration is also influenced by the evaporative demand of the
atmosphere surrounding the leaf such as humidity, temperature, wind and incident
sunlight. Soil water supply and soil temperature can influence stomatal opening, and thus
transpiration rate. The amount of water lost by a plant also depends on its size and the amount
of water absorbed at the roots.

16. It is stated in the passage that................

1. suitable humidity reduces the evaporative demand of taller trees
2. a plant cell's osmotic pressure is atfected by transpiration

3. there is some walter vapour in leaves, stems and roots

4. plants don’t easily lose the water absorbed through the leaves

17. The passage points to the fact that................

1. the upper parts of the plants release water into the atmosphere

2. hydrostatic pressure sometimes overcomes the force of gravity in plants

3. stomatal openings affect the soil temperature around the roots (and some stems)
4. capillary action encourages mass flow of liquid water from the roots to the leaves

18. The passage mentions that................

1. the underside stomata pay the "cost" associated with transpiration
2. stomatal opening can determine the rate of transpiration in plants
3. there is a great amount ol [oliage on a plant’s ‘cvaporative’ points
4. a plant’s guard cells as well as its stomata open and close its pores
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19. We understand from the passage that...............

1. mineral nutrients in a plant can be absorbed through osmosis

2. mass flow of mincral nutricnts cools plants and their shoots

3. the absorbed water at the root is dissolved into part of the xylem
4. evaporation and sweating are part ol the water cycle in plants

20. The word ‘diffusion’ in the passage (underlined) is closest to.....c..ceuuuun.
1. “occurence’ 2. “attraction’

3. ‘spread’ 4. ‘solution’

PASSAGE 2

Pan evaporation is a measurement that combines or integrates the cffects of several climate
elements: temperature, humidity. rain fall, drought dispersion, solar radiation, and wind.
Evaporation is greatest on hot, windy, dry, sunny days; and is greatly reduced when clouds
block the sun and when air is cool, calm, and humid. Pan evaporation measurements enable
farmers and ranchers to understand how much water their crops will need. An evaporation
panis used to hold water during observations for the determination of the quantity of
evaporation at a given location. Such pans are of varying sizes and shapes, the most commonly
used being circular or square. The best known of the pans are the "Class A" evaporation pan
and the "Sunken Colorado Pan". In Europe, India and South Africa, a Symon's Pan is used.
Often the evaporation pans are automated with water level sensors and a small weather station
is located ncarby. Over the last 50 or so years, pan evaporation has been carefully monitored.
For decades, nobody took much notice of the pan evaporation measurements. But in the 1990s
scientists spotled something that at the time was considered very strange; the rate of
evaporation was falling. This trend has been observed all over the world except in a few places
where it has increased. Pan evaporation is used to estimate the evaporation from lakes. There
1s a correlation between lake cvaporation and pan evaporation. Evaporation from a natural
body of water is usually at a lower rate because the body of water does not have metal sidcs
that get hot with the sun, and while light penetration in a pan is essentially uniform, light
penetration in natural bodies of water will decrease as depth increascs.

21. We understand from the passage that.........ceeruees

1. farmers set evaporation pans at several locations in their fields
2. evaporation pans were not monitored before the last 50 years
3. falling rate of evaporation did not used to be taken as normal
4. there is little relationship between pan and lake evaporation

22, The passage points to the fact that.................
1. light penetration in a lake is not at all uniform
2. Sunken Colorado Pan is not used in Furope

3. evaporation pans today are made ol polyester

4. high-quality pans do not let in much sunshine

23. We know from the passage that.............

1. they don’t use evaporation pans in developed countries
2. evaporation pans have increascd considerably over years
3. water level sensors are not essential to evaporation pans
4. there are several evaporation pans in a weather station
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24, 1t might be understood from the passage that..................

1. evaporation from a natural body of walter is usually at a lower rate
. the shape of the evaporation pan does not affect its function

. cool, calm, and humid weather develops if clouds block the sun

. evaporation pans lose some water even during observations

BUGRPL A S

25. The word ‘dispersion’ in the passage (underlined) CANNOT (best) be used for.........
l. “crowd’ 2. “traflic’

3. “light’ 4. ‘ocean’

PASSAGE 3

Potential evapotranspiration (PET) is a rcpresentation of the environmental demand for
evapolranspiration and represents the evapotranspiration rate of a short green crop, completely
shading the ground, of uniform height and with adequate water status in the soil profile. It is a
reflection of the energy available to evaporate water, and of the wind availablc to transport the
water vapour [rfom the ground up into the lower atmosphere. Actual evapotranspiration is said
to equal potential evapotranspiration when there is ample water.

PET is the amount of water that would be evaporated and transpired if there were
sufficicnt water available. This demand incorporates the energy available for evaporation and
the ability of the lower atmosphere to transport evaporated moisture away from the land
surface. PET is higher in the summer, on less cloudy days, and closer to the equator, because of
the higher levels of solar radiation that providcs the encrgy for cvaporation. PET is also higher
on windy days because the evaporated moisture can be quickly moved from the ground or plant
surface, allowing more evaporation to fill its place. PET is expressed in terms of a depth of
water, and can be graphed during the year. It is usually measured indirectly, from other
climatic factors, but also depends on the surface type, such as free water (for lakes and oceans),
the soil type for barc soil, and the vegetation. Often a valuc for PET is calculated at a ncarby
climate station on a reference surface, conventionally short grass. This value is called the
relerence evapotranspiration, and can be converted to a polential evapotranspiration by
multiplying with a surface coefficient. In agriculture, this is called a crop coefficient. The
difference between potential evapotranspiration and precipitation is used in irrigation
scheduling.

26. The passage points to the fact that PET..........c.c.ceuu.
1. is an index of the solar energy a plant releases

2. depends on the depth of water near a green crop

3. is the same in all seasons in normal weather conditions
4. does not apply in the absence of enough water

27. It might be understood from the passage that..................
1. the energy available for evaporation is wasted in the wind

. short green crops completely shade the ground

. actual evapotranspiration is often lower than PET

4. the energy available to evaporate water can come from wind

|9
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28. We can conclude from the passage thal.......coeeree

1. the lower atmosphere transports moisture into the land surface

2. reference evapotranspiration and PET cannot be the same

3. PET creates more energy in lower atmospheric conditions

4. a value for PET can only be calculated if a climate station is nearby

29, It is stated in the passage that.........ceeeenenee

1. moisture isn’t easily moved from the plant on calm days
2. irrigation scheduling can increase precipitation in an arca
3. crop coefficients for PET vary between one and ten

4, short grass is the reference surface for calculating PET

30. The word “transpire’ in the passage (underlined) is closest to.......ccueu.
1. *loss’ 2. *demand’
3. ‘gain’ 4. ‘supply’
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